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K548 WIAER [EE: BHEDL) X1 B8 (kg) X1
TIRFVY RELDFryT, 5= 154 3.000 0.688
BEA (RybRRL) <IL 38 35.000 2.233
— ZODTFHRML<IL 18 20.000 2.900
BREA (RybRRL) 211 6 10.000 0.560
ZOHOTIRELEEZ 1L 6 15.000 1.410
ZhO— 6 0.050 0.009
IRS— T+~ . FA4T. RT—V% 3 0.050 0.008
BREHE(O7—ANT—F, 297 SUFRYIR TNITETHHD) 11 90.000 1.000
RS (FEBR. BEA) 84 60.000 0.709
F15— 10 0.100 0.092
D SR 4 0.100 0.024
T—7 (FEYNUR EZ—LT—T) 19 1.000 0.065
S—hOROW A 10.000 0310
BEETSAFVIWA 1100.000 43.370
JLEY 9 0.300 0.062
FF(TA)(GRE) 6 0.300 0.582
ao—7-04 GRE) 59 50.000 10.590
TFHIAR(TE, &) GRE) 50 45,000 2.740
HXEEAEHE (RE1.5cm) (B E) 0 0.000 0.000
HEXBIER/ A T(EE10-20em) GEE) 0 0.000 0.000
BMGRER) 6 60.000 0.870
ZTOMDBREGHRE) 18 10.050 0.288
ZDH 13 0.410 0.067
(FARFO—IL) v ARRE 0 0.000 0.000
FAAFO—)LETIO—k FF(TA) 3 60.000 0.670
FARFO—ILOWH 45.000 0.260
HARFO—)LE@EH 0 0.000 0.000
Z D1t 0 0.000 0.000
=Y =PN 18 18.000 3.170
AR R X2 AR, %R 6 11.000 1.873
B X2 2R 2 0.355 0.024
|.AUR—IL %2 [, ZUR—IL 2 1.000 0.160
KRR, 2 RAMHE, B 4 0.050 0.034
A (KW ) A (KW ) 6 15.000 3.870
BEG. EFHHFE |BLEGK. EFHHF 0 0.000 0.000
BRAY BAY 1 2015.000 120.400
Z Dt Z0H 30 580.000 202.100
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e R (RyRRL) Z 1L BB (RyhRRL) Z1L 6 10.000 0.560
ZDMDTSRILEZ1L ZFDMDTIRILEZ 1L 6 15.000 1.410
ZhO— ZhO— 6 0.050 0.009
TRS—. TA—V. FAT AT % IRSG—. TA—V. FA47 AT % 3 0.050 0.008
BRAR(T7—ANI—F. avT [ SUFRYIR, ThIZET2L0) T B 0 0.000 0.000
BREH 11 90.000 1.000
RUR(TES. B9 RROEBEE 2 10,000 0.115
Lo 15 5.000 0.167
EDMTSAFvo% 46 45.000 0.427
SA5— 14— 10 0.100 0.092
DUPON:T ¢ POPON:T 1t 4 0.100 0.024
F—7 (#HEYNUR EZ—LT—T) F—F @EHEYNUR E=Z—LT—T) 19 1.000 0.065
—hORDHF S—hORDHWF 10.000 0.310
BETSATFVIWA BEISAFVIWA 1100.000 43370
YLEY LAY 9 0.300 0.062
EFFTCRE) FF(TA) (RE) 6 0.300 0.582
0—7 . 0L GRE) 0—7 . 0L GRE) 59 50.000 10.590
7FAE(I5. &) GRE) F7FHAE (T4, #) GRE) 50 45.000 2.740
HIFBBEAFHE (RE15cm)(BE) HFBEBWAFHE (RE15cm)(BE) 0 0.000 0.000
HFFEEA/ AT (RE10-20cm) GRE) HFFEEA/ AT (RE10-20cm) GRE) 0 0.000 0.000
B GRE) BREGRE) 6 60.000 0.870
TOhORARR) FYDILT—FE 1 0.050 0013
NTRE 0 0.000 0.000
Y% 0 0.000 0.000
ZDMDRE 17 10.000 0.275
ot T2 ETIRFR (T1L5—) 0 0.000 0.000
EEHE(EIIVH) 1 0.010 0.006
TEX 0 0.000 0.000
e 0 0.000 0.000
TSRFuIBEH 0 0.000 0.000
6/ Xy RILE— 0 0.000 0.000
AR 1" 0.300 0.047
SEITEOEDTEHR DN 1B AT ( 0 0.000 0.000
Z0tth 1 0.100 0014
(RiEZFO—L) "7 REER ARES(FAZXFO—L) 0 0,000 0,000
av7 BB (FAXFO—)L) 0 0.000 0.000
FEAAFO—ILETO—F FF (T FARFO—LETO—RFF(TA) 3 60.000 0.670
FAXFO—ILOBA FAXFO—ILOBA 45.000 0.260
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R4 HABEE F7vavER [EE BHUL X |[EE(ke) X
=L =L Ehlad 0 0.000 0.000
ma. K- 4 1.000 0.500
A 0 0.000 0.000
(UL HEST) 14 15.000 2.470
TLDHH 2,000 0.200
SHEICEONLDTEHRE DA SFIHAITILERR( 0 0.000 0.000
Z0ft 0 0.000 0.000
IR, Wi SO W2 BEAM 1 10.000 1.100
BEREH 5 1.000 0.773
AR, BBROES 0.000 0.000
BRUNES 0 0.000 0.000
v B 0 0.000 0.000
B 0 0.000 0.000
HAE 0 0.000 0.000
SHEICEVLDTEHRE DA SFIFAITILERR( 0 0.000 0.000
Z0ft 0 0.000 0.000
=R B Er DSt Frvd TLsd 0 0.000 0.000
TILVEOBEHE 1 0.350 0.023
AF—IVRERHAE 0 0.000 0.000
SEEVT BB 0 0.000 0.000
IA—9FA47- AT 0 0.000 0.000
ZOMDEHRRUR FSLE, /N7 IE) 0 0.000 0.000
ERA 0.000 0.000
PARGaN ik 0 0.000 0.000
ERRAER 0 0.000 0.000
SHEICEOLDTEHRE DA SFIHAITILERR( 0 0.000 0.000
Z0ft 1 0.005 0.001
. TR . TR HYavT BB 0 0.000 0.000
BRADQNRYT =D (T4)V L, BEEED) 0 0.000 0.000
(3 0 0.000 0.000
g 0 0.000 0.000
BREEH 0 0.000 0.000
MRBBHE (RBAIE/ v OF) 2 1.000 0.160
A ER—IL, FEREEE) 0.000 0.000
SHEICEOLDTEHRE DA SFIHAITILERR( 0 0.000 0.000
Z0ft 0 0.000 0.000
KA. % KA. % o—7. 0% 0 0.000 0.000
SECEVLOTERR O SLBEICIEREM( <RY ) 4 0.050 0.034
Z0ft 0 0.000 0.000
RCRHE) & CRHE) AMFRALYE, RRFED) 6 15.000 3.870
SHEICEVLDTEHRE DA SFIHAICILERR( 0 0.000 0.000
Z0ft 0 0.000 0.000
TieaRn. BFHE  |REAR. RS BlERR. EFHH 0 0.000 0.000
B B ERGEMREST. B10emKiE, RSImKH) 2000.000 118.000
RAREE10cmLE, BREImBLL) 1 15.000 2.400
SHEICEOLDTEHR DA SFIFAICILERR( 0.000 0.000
Z0ft 0 0.000 0.000
Toth Tot Z0Hh1( ) 0 0.000 0.000
Z0Hh2( ) 0 0.000 0.000
Z 03 ( ) 0 0.000 0.000
ANTEHRELELMY [HIE:39.24501 H2I:139.91268 CHOEE( FKT ) 2 100.000 45.000
#15:39.24297 H2: 13991285 CHOEE( FR2 ) 1 20.000 9.000
#15:39.24295 f2R:139.91284 CHOWEE( FE ) 1 30.000 4200
#1%:39.24295 f2R:139.91284 CHOEE( FAS ) 2 50.000 22500
W :39.24291 HRI%:130.91285 CHOME( FEY/AUER ) 1 40000 5.600
13024291 HRI%:130.91285 CHOBE( T3 ) 1 10.000 1400
153924291 H2: 13991285 CHOEE( FRe ) 1 90.000 40,500
#1%:39.24292 H2: 13991285 CHOEE( 0T ) 2 80.000 11.200
HI1E:30.24202 HRI%:130.91285 CHOBE( T3 ) 1 30.000 4200
#1%:39.24292 IE:13991285 CHOEE(ERY ) 17 100.000 45.000
#1%:39.24289 R 139.91274 CHOEE( FAS ) 1 30.000 13.500
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